Exercise 1

A slight nodification of Tomy Cherian's solution.

Fahrenheit to Celsius
Code of F2C:

type F2C

function C = F2C(F)

% onvert tenperature in Farenheit to tenperature in Celcius
%

% Call: C=F2C(F)

% Input: scalar/vector F

% CQutput: scalar/vector C

% Exanpl e: C=F2C(-40: 40);

C=(F-32).*5/9;
end

F=-40: 100; % Fahrenheit degrees from-40 to 40;
C=F2C(F);

Ti=[F ,C]; % This i s enough.

% Look at first 10 rows:

T1(1:10,:)

ans =
-40. 0000 -40.0000
-39. 0000 -39.4444
-38.0000 -38.8889
-37.0000 -38.3333
-36.0000 -37.7778
-35.0000 -37.2222
-34.0000 -36.6667
-33.0000 -36.1111
-32.0000 -35.5556
-31. 0000 -35.0000

Using table (elegant, not required):

T1lt abl e=array2t abl e(T1,"' Vari abl eNanes' , {' Fahrenheit',"' Cel sius'});
plot(F,C 'b'");

grid on;

x|l abel (' Fahrenheit(\circ F)');

yl abel (" Cel sius(\circ O"');

title(' Fahrenheit to Cel sius');
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shg;

Celsius to Fahrenheit

%Cel sius to Fahrenheit
% Code of C2F
type C2F % need (%9 after, ot herwi se not shown(for sonme reason)

function F = CF(Q
% Convert tenperature in Celcius to tenperature in Farenheit
%

% Call: F=C2F(Q)

% Input: scalar/vector C
% CQutput: scalar/vector F
% Exanple: F=C2F(-40:40);
F=9/ 5* C+32;

end

C=-40: 100; % Cel si us degrees from-40 to 40;
F=C2F( Q) ;
T2=[C ,F];

Table: Elegant (not required), like above

T2t abl e=array2t abl e(T2,"' Vari abl eNanes' , {' Fahrenheit',"' Cel sius'});
T2t abl e(1: 10, :)

ans =



Fahrenheit Celsius

1 -40 -40.0000
2 -39 -38.2000
3 -38 -36.4000
4 -37 -34.6000
2 -36 -32.8000
6 -35 -31.0000
7 -34 -29.2000
8 -33 -27.4000
9 -32 -25.6000
10 -31 -23.8000

figure

plot(CF, 'r");

grid on;

xl abel (' Cel sius(\circ ©")
yl abel (' Fahrenheit(\circ F)');
title(' Cel sius to Fahrenheit');
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